	Multip	olying by 21 (A)	
Name:		ate:	Score:
	Calcul	ate each product.	
11 × 21 =	$12 \times 21 =$	$14 \times 21 =$	8 × 21 =
$7 \times 21 =$	$16 \times 21 =$	8 × 21 =	$10 \times 21 =$
9 × 21 =	$4 \times 21 =$	$15 \times 21 =$	16 × 21 =
8 × 21 =	$11 \times 21 =$	$18 \times 21 =$	$11 \times 21 =$
3 × 21 =	$21 \times 21 =$	$12 \times 21 =$	3 × 21 =
$4 \times 21 =$	$19 \times 21 =$	$16 \times 21 =$	$1 \times 21 =$
$2 \times 21 =$	9 × 21 =	$10 \times 21 =$	18 × 21 =
$1 \times 21 =$	$13 \times 21 =$	$1 \times 21 =$	2 × 21 =
$14 \times 21 =$	$20 \times 21 =$	$20 \times 21 =$	20 × 21 =
$12 \times 21 =$	8 × 21 =	$17 \times 21 =$	16 × 21 =
$20 \times 21 =$	$5 \times 21 =$	4 × 21 =	$12 \times 21 =$
$16 \times 21 =$	3 × 21 =	$21 \times 21 =$	18 × 21 =
$5 \times 21 =$	$14 \times 21 =$	7 × 21 =	13 × 21 =
$15 \times 21 =$	$15 \times 21 =$	6 × 21 =	4 × 21 =
$19 \times 21 =$	$10 \times 21 =$	7 × 21 =	21 × 21 =
$21 \times 21 =$	7 × 21 =	$14 \times 21 =$	$17 \times 21 =$
6 × 21 =	$18 \times 21 =$	$21 \times 21 =$	$14 \times 21 =$
$17 \times 21 =$	5 × 21 =	19 × 21 =	15 × 21 =
$18 \times 21 =$	13 × 21 =	$17 \times 21 =$	11 × 21 =
$10 \times 21 =$	$2 \times 21 =$	$4 \times 21 =$	9 × 21 =
13 × 21 =	6 × 21 =	$13 \times 21 =$	19 × 21 =
1 × 21 =	3 × 21 =	$15 \times 21 =$	2 × 21 =
6 × 21 =	19 × 21 =	$5 \times 21 =$	3 × 21 =
17 × 21 =	9 × 21 =	$12 \times 21 =$	8 × 21 =
$2 \times 21 =$	$11 \times 21 =$	9 × 21 =	6 × 21 =

Multiplying by 21 (A) Answers

Name:

Date:

Score:

Calculate each product.

11 01	0.01	10 01	0.50	1.4 0.1		0.01	1.0
$11 \times 21 =$	231	$12 \times 21 =$	252	$14 \times 21 =$	294	$8 \times 21 =$	168
$7 \times 21 =$	147	$16 \times 21 =$	336	$8 \times 21 =$	168	$10 \times 21 =$	210
9 × 21 =	189	$4 \times 21 =$	84	$15 \times 21 =$	315	$16 \times 21 =$	336
8 × 21 =	168	$11 \times 21 =$	231	$18 \times 21 =$	378	$11 \times 21 =$	231
$3 \times 21 =$	63	$21 \times 21 =$	441	$12 \times 21 =$	252	$3 \times 21 =$	63
$4 \times 21 =$	84	19 × 21 =	399	$16 \times 21 =$	336	$1 \times 21 =$	21
$2 \times 21 =$	42	9 × 21 =	189	$10 \times 21 =$	210	$18 \times 21 =$	378
$1 \times 21 =$	21	$13 \times 21 =$	273	$1 \times 21 =$	21	$2 \times 21 =$	42
$14 \times 21 =$	294	$20 \times 21 =$	420	$20 \times 21 =$	420	$20 \times 21 =$	420
$12 \times 21 =$	252	8 × 21 =	168	$17 \times 21 =$	357	$16 \times 21 =$	336
$20 \times 21 =$	420	$5 \times 21 =$	105	$4 \times 21 =$	84	$12 \times 21 =$	252
$16 \times 21 =$	336	$3 \times 21 =$	63	$21 \times 21 =$	441	$18 \times 21 =$	378
$5 \times 21 =$	105	$14 \times 21 =$	294	$7 \times 21 =$	147	$13 \times 21 =$	273
$15 \times 21 =$	315	$15 \times 21 =$	315	6 × 21 =	126	$4 \times 21 =$	84
19 × 21 =	399	$10 \times 21 =$	210	7 × 21 =	147	$21 \times 21 =$	441
$21 \times 21 =$	441	7 × 21 =	147	$14 \times 21 =$	294	$17 \times 21 =$	357
6 × 21 =	126	$18 \times 21 =$	378	$21 \times 21 =$	441	$14 \times 21 =$	294
$17 \times 21 =$	357	$5 \times 21 =$	105	19 × 21 =	399	$15 \times 21 =$	315
$18 \times 21 =$	378	$13 \times 21 =$	273	$17 \times 21 =$	357	$11 \times 21 =$	231
$10 \times 21 =$	210	$2 \times 21 =$	42	$4 \times 21 =$	84	9 × 21 =	189
$13 \times 21 =$	273	6 × 21 =	126	$13 \times 21 =$	273	19 × 21 =	399
1 × 21 =	21	3 × 21 =	63	$15 \times 21 =$	315	2 × 21 =	42
6 × 21 =	126	19 × 21 =	399	5 × 21 =	105	3 × 21 =	63
17 × 21 =	357	9 × 21 =	189	$12 \times 21 =$	252	8 × 21 =	168
2 × 21 =	42	$11 \times 21 =$	231	9 × 21 =	189	6 × 21 =	126

	Multip	olying by 21 (B)			
Name:	D	ate:	Score:		
	Calcul	ate each product.			
$21 \times 21 =$	$21 \times 21 =$	$5 \times 21 =$	$11 \times 21 =$		
$17 \times 21 =$	6 × 21 =	$11 \times 21 =$	$10 \times 21 =$		
3 × 21 =	$16 \times 21 =$	$21 \times 21 =$	1 × 21 =		
$12 \times 21 =$	$15 \times 21 =$	$12 \times 21 =$	9 × 21 =		
$20 \times 21 =$	9 × 21 =	$18 \times 21 =$	$14 \times 21 =$		
6 × 21 =	$19 \times 21 =$	8 × 21 =	13 × 21 =		
8 × 21 =	$4 \times 21 =$	$14 \times 21 =$	21 × 21 =		
$16 \times 21 =$	$1 \times 21 =$	9 × 21 =	$20 \times 21 =$		
$11 \times 21 =$	$12 \times 21 =$	6 × 21 =	6 × 21 =		
$13 \times 21 =$	$7 \times 21 =$	$1 \times 21 =$	$10 \times 21 =$		
$2 \times 21 =$	8 × 21 =	$2 \times 21 =$	16 × 21 =		
$14 \times 21 =$	$18 \times 21 =$	$7 \times 21 =$	19 × 21 =		
$7 \times 21 =$	3 × 21 =	$17 \times 21 =$	$15 \times 21 =$		
$5 \times 21 =$	$13 \times 21 =$	$19 \times 21 =$	5 × 21 =		
9 × 21 =	$14 \times 21 =$	$2 \times 21 =$	13 × 21 =		
$18 \times 21 =$	$2 \times 21 =$	$7 \times 21 =$	$17 \times 21 =$		
$4 \times 21 =$	$11 \times 21 =$	$18 \times 21 =$	8 × 21 =		
$15 \times 21 =$	3 × 21 =	$4 \times 21 =$	11 × 21 =		
$10 \times 21 =$	19 × 21 =	8 × 21 =	6 × 21 =		
$19 \times 21 =$	4 × 21 =	$15 \times 21 =$	3 × 21 =		
$1 \times 21 =$	$13 \times 21 =$	$5 \times 21 =$	$18 \times 21 =$		
$17 \times 21 =$	$15 \times 21 =$	3 × 21 =	$14 \times 21 =$		
$20 \times 21 =$	$16 \times 21 =$	$12 \times 21 =$	9 × 21 =		
$5 \times 21 =$	$10 \times 21 =$	$17 \times 21 =$	7 × 21 =		
$10 \times 21 =$	$20 \times 21 =$	$16 \times 21 =$	2 × 21 =		

Multiplying by 21 (B) Answers

Wullipfying by 21 (D) Answers							
Name:	Date: Score:						
		Ca	lculate	each product.			
$21 \times 21 =$	441	$21 \times 21 =$	441	$5 \times 21 =$	105	$11 \times 21 =$	231
$17 \times 21 =$	357	6 × 21 =	126	$11 \times 21 =$	231	$10 \times 21 =$	210
3 × 21 =	63	$16 \times 21 =$	336	$21 \times 21 =$	441	$1 \times 21 =$	21
$12 \times 21 =$	252	$15 \times 21 =$	315	$12 \times 21 =$	252	9 × 21 =	189
$20 \times 21 =$	420	9 × 21 =	189	$18 \times 21 =$	378	$14 \times 21 =$	294
6 × 21 =	126	19 × 21 =	399	8 × 21 =	168	$13 \times 21 =$	273
8 × 21 =	168	$4 \times 21 =$	84	$14 \times 21 =$	294	$21 \times 21 =$	441
$16 \times 21 =$	336	$1 \times 21 =$	21	9 × 21 =	189	$20 \times 21 =$	420
$11 \times 21 =$	231	$12 \times 21 =$	252	$6 \times 21 =$	126	$6 \times 21 =$	126
$13 \times 21 =$	273	$7 \times 21 =$	147	$1 \times 21 =$	21	$10 \times 21 =$	210
$2 \times 21 =$	42	8 × 21 =	168	$2 \times 21 =$	42	$16 \times 21 =$	336
$14 \times 21 =$	294	$18 \times 21 =$	378	$7 \times 21 =$	147	19 × 21 =	399
$7 \times 21 =$	147	$3 \times 21 =$	63	$17 \times 21 =$	357	$15 \times 21 =$	315
$5 \times 21 =$	105	$13 \times 21 =$	273	$19 \times 21 =$	399	$5 \times 21 =$	105
9 × 21 =	189	$14 \times 21 =$	294	$2 \times 21 =$	42	$13 \times 21 =$	273
$18 \times 21 =$	378	$2 \times 21 =$	42	$7 \times 21 =$	147	$17 \times 21 =$	357
$4 \times 21 =$	84	$11 \times 21 =$	231	$18 \times 21 =$	378	8 × 21 =	168
$15 \times 21 =$	315	$3 \times 21 =$	63	$4 \times 21 =$	84	$11 \times 21 =$	231
$10 \times 21 =$	210	$19 \times 21 =$	399	8 × 21 =	168	$6 \times 21 =$	126
19 × 21 =	399	4 × 21 =	84	$15 \times 21 =$	315	3 × 21 =	63
$1 \times 21 =$	21	$13 \times 21 =$	273	$5 \times 21 =$	105	$18 \times 21 =$	378
$17 \times 21 =$	357	$15 \times 21 =$	315	3 × 21 =	63	$14 \times 21 =$	294
$20 \times 21 =$	420	$16 \times 21 =$	336	$12 \times 21 =$	252	9 × 21 =	189
$5 \times 21 =$	105	$10 \times 21 =$	210	$17 \times 21 =$	357	$7 \times 21 =$	147
$10 \times 21 =$	210	$20 \times 21 =$	420	$16 \times 21 =$	336	$2 \times 21 =$	42

	Multip	olying by 21 (C)	
Name: Date		ate:	Score:
	Calcul	ate each product.	
$5 \times 21 =$	$17 \times 21 =$	6 × 21 =	13 × 21 =
$21 \times 21 =$	$16 \times 21 =$	$1 \times 21 =$	15 × 21 =
$11 \times 21 =$	8 × 21 =	$19 \times 21 =$	19 × 21 =
$4 \times 21 =$	$1 \times 21 =$	$11 \times 21 =$	9 × 21 =
$7 \times 21 =$	$20 \times 21 =$	$12 \times 21 =$	$14 \times 21 =$
$1 \times 21 =$	3 × 21 =	$10 \times 21 =$	11 × 21 =
$13 \times 21 =$	$12 \times 21 =$	9 × 21 =	5 × 21 =
$14 \times 21 =$	9 × 21 =	$20 \times 21 =$	$20 \times 21 =$
3 × 21 =	6 × 21 =	$18 \times 21 =$	2 × 21 =
9 × 21 =	$14 \times 21 =$	8 × 21 =	8 × 21 =
19 × 21 =	$5 \times 21 =$	$13 \times 21 =$	2 × 21 =
$18 \times 21 =$	$21 \times 21 =$	$4 \times 21 =$	3 × 21 =
$17 \times 21 =$	$2 \times 21 =$	$21 \times 21 =$	6 × 21 =
$15 \times 21 =$	13 × 21 =	$18 \times 21 =$	11 × 21 =
6 × 21 =	$10 \times 21 =$	$4 \times 21 =$	$12 \times 21 =$
$16 \times 21 =$	7 × 21 =	8 × 21 =	14 × 21 =
8 × 21 =	4 × 21 =	$21 \times 21 =$	9 × 21 =
$2 \times 21 =$	$14 \times 21 =$	$10 \times 21 =$	1 × 21 =
$10 \times 21 =$	$17 \times 21 =$	6 × 21 =	18 × 21 =
$12 \times 21 =$	$15 \times 21 =$	$17 \times 21 =$	16 × 21 =
$20 \times 21 =$	3 × 21 =	$7 \times 21 =$	$10 \times 21 =$
$11 \times 21 =$	7 × 21 =	$12 \times 21 =$	20 × 21 =
$15 \times 21 =$	$5 \times 21 =$	$16 \times 21 =$	4 × 21 =
18 × 21 =	2 × 21 =	$1 \times 21 =$	17 × 21 =
$19 \times 21 =$	$16 \times 21 =$	3 × 21 =	5 × 21 =

Multiplying by 21 (C) Answers

Name:	Name: Date: Score:						
		Ca	lculate	each product.			
$5 \times 21 =$	105	$17 \times 21 =$	357	6 × 21 =	126	$13 \times 21 =$	273
21 × 21 =	441	$16 \times 21 =$	336	$1 \times 21 =$	21	$15 \times 21 =$	315
11 × 21 =	231	8 × 21 =	168	19 × 21 =	399	19 × 21 =	399
4 × 21 =	84	$1 \times 21 =$	21	$11 \times 21 =$	231	9 × 21 =	189
$7 \times 21 =$	147	$20 \times 21 =$	420	$12 \times 21 =$	252	$14 \times 21 =$	294
$1 \times 21 =$	21	$3 \times 21 =$	63	$10 \times 21 =$	210	$11 \times 21 =$	231
$13 \times 21 =$	273	$12 \times 21 =$	252	9 × 21 =	189	$5 \times 21 =$	105
$14 \times 21 =$	294	9 × 21 =	189	$20 \times 21 =$	420	$20 \times 21 =$	420
3 × 21 =	63	$6 \times 21 =$	126	$18 \times 21 =$	378	$2 \times 21 =$	42
9 × 21 =	189	$14 \times 21 =$	294	8 × 21 =	168	8 × 21 =	168
19 × 21 =	399	$5 \times 21 =$	105	$13 \times 21 =$	273	$2 \times 21 =$	42
$18 \times 21 =$	378	$21 \times 21 =$	441	$4 \times 21 =$	84	$3 \times 21 =$	63
$17 \times 21 =$	357	$2 \times 21 =$	42	$21 \times 21 =$	441	6 × 21 =	126
$15 \times 21 =$	315	$13 \times 21 =$	273	$18 \times 21 =$	378	$11 \times 21 =$	231
$6 \times 21 =$	126	$10 \times 21 =$	210	$4 \times 21 =$	84	$12 \times 21 =$	252
$16 \times 21 =$	336	$7 \times 21 =$	147	8 × 21 =	168	$14 \times 21 =$	294
8 × 21 =	168	$4 \times 21 =$	84	$21 \times 21 =$	441	9 × 21 =	189
$2 \times 21 =$	42	$14 \times 21 =$	294	$10 \times 21 =$	210	$1 \times 21 =$	21
$10 \times 21 =$	210	$17 \times 21 =$	357	$6 \times 21 =$	126	$18 \times 21 =$	378
$12 \times 21 =$	252	$15 \times 21 =$	315	$17 \times 21 =$	357	16 × 21 =	336
$20 \times 21 =$	420	$3 \times 21 =$	63	$7 \times 21 =$	147	$10 \times 21 =$	210
$11 \times 21 =$	231	$7 \times 21 =$	147	$12 \times 21 =$	252	$20 \times 21 =$	420
$15 \times 21 =$	315	$5 \times 21 =$	105	16 × 21 =	336	4 × 21 =	84
$18 \times 21 =$	378	$2 \times 21 =$	42	1 × 21 =	21	17 × 21 =	357
19 × 21 =	399	$16 \times 21 =$	336	3 × 21 =	63	5 × 21 =	105

	Multip	olying by 21 (D)	
Name:	Da	ate:	Score:
	Calcul	ate each product.	
$19 \times 21 =$	$21 \times 21 =$	3 × 21 =	21 × 21 =
$14 \times 21 =$	$4 \times 21 =$	$14 \times 21 =$	$14 \times 21 =$
$10 \times 21 =$	$17 \times 21 =$	$18 \times 21 =$	12 × 21 =
6 × 21 =	13 × 21 =	$12 \times 21 =$	7 × 21 =
$5 \times 21 =$	$19 \times 21 =$	$20 \times 21 =$	5 × 21 =
$13 \times 21 =$	$11 \times 21 =$	$10 \times 21 =$	1 × 21 =
$11 \times 21 =$	$12 \times 21 =$	$19 \times 21 =$	2 × 21 =
$1 \times 21 =$	$15 \times 21 =$	$1 \times 21 =$	13 × 21 =
$12 \times 21 =$	$18 \times 21 =$	9 × 21 =	11 × 21 =
$16 \times 21 =$	$10 \times 21 =$	$7 \times 21 =$	13 × 21 =
$7 \times 21 =$	8 × 21 =	$17 \times 21 =$	3 × 21 =
$20 \times 21 =$	2 × 21 =	$15 \times 21 =$	$10 \times 21 =$
3 × 21 =	$20 \times 21 =$	8 × 21 =	16 × 21 =
$18 \times 21 =$	9 × 21 =	$19 \times 21 =$	9 × 21 =
4 × 21 =	5 × 21 =	$17 \times 21 =$	$14 \times 21 =$
$2 \times 21 =$	$1 \times 21 =$	$16 \times 21 =$	6 × 21 =
$15 \times 21 =$	$14 \times 21 =$	9 × 21 =	1 × 21 =
9 × 21 =	4 × 21 =	$15 \times 21 =$	11 × 21 =
8 × 21 =	13 × 21 =	6 × 21 =	18 × 21 =
$21 \times 21 =$	21 × 21 =	3 × 21 =	$20 \times 21 =$
$17 \times 21 =$	$16 \times 21 =$	$10 \times 21 =$	4 × 21 =
$16 \times 21 =$	2 × 21 =	4 × 21 =	15 × 21 =
7 × 21 =	5 × 21 =	$20 \times 21 =$	8 × 21 =
6 × 21 =	6 × 21 =	8 × 21 =	5 × 21 =
3 × 21 =	11 × 21 =	$18 \times 21 =$	17 × 21 =

Multiplying by 21 (D) Answers

Ν	am	e:
Τđ	am	C .

Date: _____

Score:

Calculate each product.

$19 \times 21 = 399$	$21 \times 21 =$	441	$3 \times 21 =$	63	$21 \times 21 =$	441
$14 \times 21 = 294$	$4 \times 21 =$	84	$14 \times 21 =$	294	$14 \times 21 =$	294
$10 \times 21 = 210$	$17 \times 21 =$	357	$18 \times 21 =$	378	$12 \times 21 =$	252
$6 \times 21 = 126$	$13 \times 21 =$	273	$12 \times 21 =$	252	$7 \times 21 =$	147
$5 \times 21 = 105$	19 × 21 =	399	$20 \times 21 =$	420	$5 \times 21 =$	105
$13 \times 21 = 273$	$11 \times 21 =$	231	$10 \times 21 =$	210	$1 \times 21 =$	21
$11 \times 21 = 231$	$12 \times 21 =$	252	19 × 21 =	399	$2 \times 21 =$	42
$1 \times 21 = 21$	$15 \times 21 =$	315	$1 \times 21 =$	21	$13 \times 21 =$	273
$12 \times 21 = 252$	$18 \times 21 =$	378	9 × 21 =	189	$11 \times 21 =$	231
$16 \times 21 = 336$	$10 \times 21 =$	210	$7 \times 21 =$	147	$13 \times 21 =$	273
$7 \times 21 = 147$	8 × 21 =	168	$17 \times 21 =$	357	$3 \times 21 =$	63
$20 \times 21 = 420$	$2 \times 21 =$	42	$15 \times 21 =$	315	$10 \times 21 =$	210
$3 \times 21 = 63$	$20 \times 21 =$	420	8 × 21 =	168	$16 \times 21 =$	336
$18 \times 21 = 378$	9 × 21 =	189	19 × 21 =	399	9 × 21 =	189
$4 \times 21 = 84$	$5 \times 21 =$	105	$17 \times 21 =$	357	$14 \times 21 =$	294
$2 \times 21 = 42$	$1 \times 21 =$	21	$16 \times 21 =$	336	6 × 21 =	126
$15 \times 21 = 315$	$14 \times 21 =$	294	9 × 21 =	189	$1 \times 21 =$	21
$9 \times 21 = 189$	$4 \times 21 =$	84	$15 \times 21 =$	315	$11 \times 21 =$	231
$8 \times 21 = 168$	$13 \times 21 =$	273	6 × 21 =	126	$18 \times 21 =$	378
$21 \times 21 = 441$	$21 \times 21 =$	441	$3 \times 21 =$	63	$20 \times 21 =$	420
$17 \times 21 = 357$	$16 \times 21 =$	336	$10 \times 21 =$	210	$4 \times 21 =$	84
$16 \times 21 = 336$	$2 \times 21 =$	42	$4 \times 21 =$	84	$15 \times 21 =$	315
$7 \times 21 = 147$	$5 \times 21 =$	105	$20 \times 21 =$	420	8 × 21 =	168
$6 \times 21 = 126$	$6 \times 21 =$	126	8 × 21 =	168	$5 \times 21 =$	105
$3 \times 21 = 63$	$11 \times 21 =$	231	$18 \times 21 =$	378	17 × 21 =	357

	Multip	lying by 21 (E)	
Name:	Da	ite:	Score:
	Calcula	ate each product.	
13 × 21 =	2 × 21 =	$15 \times 21 =$	20 × 21 =
$10 \times 21 =$	3 × 21 =	$5 \times 21 =$	1 × 21 =
19 × 21 =	9 × 21 =	$17 \times 21 =$	2 × 21 =
$17 \times 21 =$	1 × 21 =	8 × 21 =	10 × 21 =
$12 \times 21 =$	5 × 21 =	$6 \times 21 =$	7 × 21 =
$15 \times 21 =$	19 × 21 =	$4 \times 21 =$	11 × 21 =
6 × 21 =	$12 \times 21 =$	$1 \times 21 =$	18 × 21 =
$1 \times 21 =$	$17 \times 21 =$	$12 \times 21 =$	$14 \times 21 =$
$18 \times 21 =$	4 × 21 =	$16 \times 21 =$	$12 \times 21 =$
$2 \times 21 =$	$14 \times 21 =$	3 × 21 =	2 × 21 =
9 × 21 =	18 × 21 =	$21 \times 21 =$	15 × 21 =
$5 \times 21 =$	8 × 21 =	$11 \times 21 =$	1 × 21 =
$4 \times 21 =$	15 × 21 =	$10 \times 21 =$	7 × 21 =
$14 \times 21 =$	13 × 21 =	$17 \times 21 =$	16 × 21 =
20 × 21 =	16 × 21 =	$5 \times 21 =$	8 × 21 =
8 × 21 =	$20 \times 21 =$	$21 \times 21 =$	$20 \times 21 =$
16 × 21 =	$10 \times 21 =$	6 × 21 =	6 × 21 =
$7 \times 21 =$	$20 \times 21 =$	9 × 21 =	17 × 21 =
3 × 21 =	2 × 21 =	$19 \times 21 =$	5 × 21 =
$11 \times 21 =$	19 × 21 =	$15 \times 21 =$	4 × 21 =
$21 \times 21 =$	$18 \times 21 =$	$4 \times 21 =$	$12 \times 21 =$
6 × 21 =	9 × 21 =	$16 \times 21 =$	13 × 21 =
$21 \times 21 =$	$14 \times 21 =$	8 × 21 =	21 × 21 =
$11 \times 21 =$	7 × 21 =	3 × 21 =	18 × 21 =
7 × 21 =	$13 \times 21 =$	$13 \times 21 =$	$14 \times 21 =$

Multiplying by 21 (E) Answers

Name:

Date:

Score:

Calculate each product.

	_					
$13 \times 21 = 273$	$2 \times 21 =$	42	$15 \times 21 =$	315	$20 \times 21 =$	420
$10 \times 21 = 210$	$3 \times 21 =$	63	$5 \times 21 =$	105	$1 \times 21 =$	21
$19 \times 21 = 399$	9 × 21 =	189	$17 \times 21 =$	357	$2 \times 21 =$	42
$17 \times 21 = 357$	$1 \times 21 =$	21	8 × 21 =	168	$10 \times 21 =$	210
$12 \times 21 = 252$	$5 \times 21 =$	105	6 × 21 =	126	$7 \times 21 =$	147
$15 \times 21 = 315$	19 × 21 =	399	$4 \times 21 =$	84	$11 \times 21 =$	231
$6 \times 21 = 126$	$12 \times 21 =$	252	$1 \times 21 =$	21	$18 \times 21 =$	378
$1 \times 21 = 21$	$17 \times 21 =$	357	$12 \times 21 =$	252	$14 \times 21 =$	294
$18 \times 21 = 378$	$4 \times 21 =$	84	$16 \times 21 =$	336	$12 \times 21 =$	252
$2 \times 21 = 42$	$14 \times 21 =$	294	3 × 21 =	63	$2 \times 21 =$	42
$9 \times 21 = 189$	$18 \times 21 =$	378	$21 \times 21 =$	441	$15 \times 21 =$	315
$5 \times 21 = 105$	8 × 21 =	168	$11 \times 21 =$	231	$1 \times 21 =$	21
$4 \times 21 = 84$	$15 \times 21 =$	315	$10 \times 21 =$	210	7 × 21 =	147
$14 \times 21 = 294$	$13 \times 21 =$	273	$17 \times 21 =$	357	16 × 21 =	336
$20 \times 21 = 420$	16 × 21 =	336	$5 \times 21 =$	105	8 × 21 =	168
$8 \times 21 = 168$	$20 \times 21 =$	420	$21 \times 21 =$	441	$20 \times 21 =$	420
$16 \times 21 = 336$	$10 \times 21 =$	210	6 × 21 =	126	6 × 21 =	126
$7 \times 21 = 147$	$20 \times 21 =$	420	9 × 21 =	189	$17 \times 21 =$	357
$3 \times 21 = 63$	$2 \times 21 =$	42	19 × 21 =	399	$5 \times 21 =$	105
$11 \times 21 = 231$	19 × 21 =	399	$15 \times 21 =$	315	$4 \times 21 =$	84
$21 \times 21 = 441$	$18 \times 21 =$	378	$4 \times 21 =$	84	$12 \times 21 =$	252
$6 \times 21 = 126$	9 × 21 =	189	$16 \times 21 =$	336	$13 \times 21 =$	273
$21 \times 21 = 441$	$14 \times 21 =$	294	8 × 21 =	168	$21 \times 21 =$	441
$11 \times 21 = 231$	$7 \times 21 =$	147	3 × 21 =	63	$18 \times 21 =$	378
$7 \times 21 = 147$	$13 \times 21 =$	273	$13 \times 21 =$	273	$14 \times 21 =$	294

	Multip	olying by 21 (F)	
Name:	Da	ate:	Score:
	Calcul	ate each product.	
6 × 21 =	$14 \times 21 =$	3 × 21 =	$18 \times 21 =$
$17 \times 21 =$	$19 \times 21 =$	$5 \times 21 =$	$17 \times 21 =$
$4 \times 21 =$	$1 \times 21 =$	$13 \times 21 =$	$15 \times 21 =$
$16 \times 21 =$	3 × 21 =	$17 \times 21 =$	9 × 21 =
$20 \times 21 =$	$13 \times 21 =$	$12 \times 21 =$	$11 \times 21 =$
$10 \times 21 =$	6 × 21 =	$14 \times 21 =$	$13 \times 21 =$
$11 \times 21 =$	18 × 21 =	21 × 21 =	$10 \times 21 =$
$5 \times 21 =$	$20 \times 21 =$	$7 \times 21 =$	$2 \times 21 =$
$21 \times 21 =$	$12 \times 21 =$	8 × 21 =	6 × 21 =
$18 \times 21 =$	$17 \times 21 =$	$19 \times 21 =$	9 × 21 =
$14 \times 21 =$	$5 \times 21 =$	$15 \times 21 =$	$7 \times 21 =$
3 × 21 =	$16 \times 21 =$	$1 \times 21 =$	$19 \times 21 =$
$1 \times 21 =$	$21 \times 21 =$	$16 \times 21 =$	$5 \times 21 =$
9 × 21 =	$11 \times 21 =$	$1 \times 21 =$	8 × 21 =
8 × 21 =	$7 \times 21 =$	$19 \times 21 =$	$21 \times 21 =$
$15 \times 21 =$	$2 \times 21 =$	$16 \times 21 =$	$1 \times 21 =$
$13 \times 21 =$	9 × 21 =	$12 \times 21 =$	$18 \times 21 =$
$19 \times 21 =$	$20 \times 21 =$	$14 \times 21 =$	$10 \times 21 =$
$2 \times 21 =$	6 × 21 =	8 × 21 =	$15 \times 21 =$
$7 \times 21 =$	2 × 21 =	4 × 21 =	$16 \times 21 =$
$12 \times 21 =$	9 × 21 =	7 × 21 =	4 × 21 =
4 × 21 =	11 × 21 =	$5 \times 21 =$	2 × 21 =
8 × 21 =	18 × 21 =	21 × 21 =	6 × 21 =
$10 \times 21 =$	$10 \times 21 =$	$20 \times 21 =$	13 × 21 =
$15 \times 21 =$	4 × 21 =	3 × 21 =	$12 \times 21 =$

Multiplying by 21 (F) Answers

Date:

Score:

Calculate each product.

$6 \times 21 =$	126	$14 \times 21 =$	294	$3 \times 21 =$	63	$18 \times 21 =$	378
$17 \times 21 =$	357	$19 \times 21 =$	399	$5 \times 21 =$	105	$17 \times 21 =$	357
4 × 21 =	84	$1 \times 21 =$	21	$13 \times 21 =$	273	$15 \times 21 =$	315
$16 \times 21 =$	336	$3 \times 21 =$	63	$17 \times 21 =$	357	9 × 21 =	189
$20 \times 21 =$	420	$13 \times 21 =$	273	$12 \times 21 =$	252	$11 \times 21 =$	231
$10 \times 21 = 2$	210	6 × 21 =	126	$14 \times 21 =$	294	$13 \times 21 =$	273
$11 \times 21 = 2$	231	$18 \times 21 =$	378	$21 \times 21 =$	441	$10 \times 21 =$	210
$5 \times 21 =$	105	$20 \times 21 =$	420	$7 \times 21 =$	147	$2 \times 21 =$	42
$21 \times 21 =$	441	$12 \times 21 =$	252	$8 \times 21 =$	168	6 × 21 =	126
$18 \times 21 =$	378	$17 \times 21 =$	357	19 × 21 =	399	9 × 21 =	189
$14 \times 21 = 2$	294	$5 \times 21 =$	105	$15 \times 21 =$	315	$7 \times 21 =$	147
3 × 21 =	63	$16 \times 21 =$	336	$1 \times 21 =$	21	19 × 21 =	399
1 × 21 =	21	$21 \times 21 =$	441	$16 \times 21 =$	336	$5 \times 21 =$	105
$9 \times 21 =$	189	$11 \times 21 =$	231	$1 \times 21 =$	21	8 × 21 =	168
$8 \times 21 =$	168	$7 \times 21 =$	147	$19 \times 21 =$	399	$21 \times 21 =$	441
$15 \times 21 = 2$	315	$2 \times 21 =$	42	$16 \times 21 =$	336	$1 \times 21 =$	21
$13 \times 21 = 2$	273	9 × 21 =	189	$12 \times 21 =$	252	$18 \times 21 =$	378
$19 \times 21 = 21$	399	$20 \times 21 =$	420	$14 \times 21 =$	294	$10 \times 21 =$	210
2 × 21 =	42	6 × 21 =	126	8 × 21 =	168	$15 \times 21 =$	315
$7 \times 21 =$	147	$2 \times 21 =$	42	$4 \times 21 =$	84	$16 \times 21 =$	336
$12 \times 21 = 2$	252	9 × 21 =	189	$7 \times 21 =$	147	$4 \times 21 =$	84
4 × 21 =	84	$11 \times 21 =$	231	5 × 21 =	105	2 × 21 =	42
$8 \times 21 =$	168	$18 \times 21 =$	378	21 × 21 =	441	6 × 21 =	126
$10 \times 21 = 2$	210	$10 \times 21 =$	210	$20 \times 21 =$	420	$13 \times 21 =$	273
$15 \times 21 =$	315	4 × 21 =	84	3 × 21 =	63	12 × 21 =	252

	Multip	olying by 21 (G)	
Name:	Da	ate:	Score:
	Calcul	ate each product.	
$15 \times 21 =$	$15 \times 21 =$	21 × 21 =	$13 \times 21 =$
$5 \times 21 =$	$18 \times 21 =$	$20 \times 21 =$	14 × 21 =
$13 \times 21 =$	$13 \times 21 =$	6 × 21 =	3 × 21 =
$4 \times 21 =$	$11 \times 21 =$	$7 \times 21 =$	$1 \times 21 =$
$2 \times 21 =$	$10 \times 21 =$	$13 \times 21 =$	$17 \times 21 =$
$12 \times 21 =$	$5 \times 21 =$	8 × 21 =	16 × 21 =
$17 \times 21 =$	$2 \times 21 =$	9 × 21 =	7 × 21 =
16 × 21 =	$4 \times 21 =$	$11 \times 21 =$	$20 \times 21 =$
$14 \times 21 =$	$19 \times 21 =$	$17 \times 21 =$	$11 \times 21 =$
$20 \times 21 =$	8 × 21 =	$16 \times 21 =$	16 × 21 =
$7 \times 21 =$	$14 \times 21 =$	$4 \times 21 =$	2 × 21 =
$1 \times 21 =$	$20 \times 21 =$	$5 \times 21 =$	$20 \times 21 =$
3 × 21 =	$16 \times 21 =$	$19 \times 21 =$	21 × 21 =
9 × 21 =	$21 \times 21 =$	$4 \times 21 =$	3 × 21 =
$11 \times 21 =$	$1 \times 21 =$	$18 \times 21 =$	19 × 21 =
8 × 21 =	6 × 21 =	$5 \times 21 =$	$14 \times 21 =$
$10 \times 21 =$	$3 \times 21 =$	9 × 21 =	$10 \times 21 =$
19 × 21 =	$15 \times 21 =$	$15 \times 21 =$	18 × 21 =
$18 \times 21 =$	2 × 21 =	$19 \times 21 =$	13 × 21 =
6 × 21 =	$10 \times 21 =$	8 × 21 =	9 × 21 =
$21 \times 21 =$	3 × 21 =	$2 \times 21 =$	$15 \times 21 =$
9 × 21 =	$18 \times 21 =$	$21 \times 21 =$	7 × 21 =
$17 \times 21 =$	$1 \times 21 =$	6 × 21 =	6 × 21 =
7 × 21 =	$14 \times 21 =$	$10 \times 21 =$	$17 \times 21 =$
$12 \times 21 =$	$12 \times 21 =$	$12 \times 21 =$	$12 \times 21 =$

Multiplying by 21 (G) Answers

		manipiy	1115 0	y 21 (0) / 11	10 10 01	5	
Name:			Date:			Score:	
		Ca	lculate	each product.			
$15 \times 21 =$	315	$15 \times 21 =$	315	$21 \times 21 =$	441	$13 \times 21 =$	273
5 × 21 =	105	$18 \times 21 =$	378	$20 \times 21 =$	420	$14 \times 21 =$	294
13 × 21 =	273	$13 \times 21 =$	273	6 × 21 =	126	$3 \times 21 =$	63
4 × 21 =	84	$11 \times 21 =$	231	7 × 21 =	147	$1 \times 21 =$	21
2 × 21 =	42	$10 \times 21 =$	210	$13 \times 21 =$	273	$17 \times 21 =$	357
$12 \times 21 =$	252	$5 \times 21 =$	105	8 × 21 =	168	$16 \times 21 =$	336
$17 \times 21 =$	357	$2 \times 21 =$	42	9 × 21 =	189	7 × 21 =	147
$16 \times 21 =$	336	$4 \times 21 =$	84	11 × 21 =	231	$20 \times 21 =$	420
$14 \times 21 =$	294	19 × 21 =	399	$17 \times 21 =$	357	$11 \times 21 =$	231
$20 \times 21 =$	420	8 × 21 =	168	16 × 21 =	336	16 × 21 =	336
7 × 21 =	147	$14 \times 21 =$	294	$4 \times 21 =$	84	$2 \times 21 =$	42
$1 \times 21 =$	21	$20 \times 21 =$	420	$5 \times 21 =$	105	$20 \times 21 =$	420
3 × 21 =	63	$16 \times 21 =$	336	19 × 21 =	399	$21 \times 21 =$	441
9 × 21 =	189	$21 \times 21 =$	441	$4 \times 21 =$	84	$3 \times 21 =$	63
$11 \times 21 =$	231	$1 \times 21 =$	21	$18 \times 21 =$	378	19 × 21 =	399
8 × 21 =	168	6 × 21 =	126	$5 \times 21 =$	105	$14 \times 21 =$	294
$10 \times 21 =$	210	$3 \times 21 =$	63	9 × 21 =	189	$10 \times 21 =$	210
$19 \times 21 =$	399	$15 \times 21 =$	315	$15 \times 21 =$	315	$18 \times 21 =$	378
$18 \times 21 =$	378	$2 \times 21 =$	42	19 × 21 =	399	$13 \times 21 =$	273
6 × 21 =	126	$10 \times 21 =$	210	8 × 21 =	168	9 × 21 =	189
$21 \times 21 =$	441	3 × 21 =	63	2 × 21 =	42	$15 \times 21 =$	315
9 × 21 =	189	$18 \times 21 =$	378	21 × 21 =	441	7 × 21 =	147
$17 \times 21 =$	357	1 × 21 =	21	6 × 21 =	126	6 × 21 =	126
7 × 21 =	147	$14 \times 21 =$	294	$10 \times 21 =$	210	$17 \times 21 =$	357
$12 \times 21 =$	252	$12 \times 21 =$	252	$12 \times 21 =$	252	$12 \times 21 =$	252

	Multip	lying by 21 (H)	
Name:	Da	ate:	Score:
	Calcul	ate each product.	
16 × 21 =	$12 \times 21 =$	16 × 21 =	4 × 21 =
$19 \times 21 =$	$11 \times 21 =$	$1 \times 21 =$	2 × 21 =
$15 \times 21 =$	$21 \times 21 =$	$12 \times 21 =$	11 × 21 =
$5 \times 21 =$	$18 \times 21 =$	$11 \times 21 =$	19 × 21 =
9 × 21 =	4 × 21 =	$4 \times 21 =$	8 × 21 =
$4 \times 21 =$	3 × 21 =	$6 \times 21 =$	5 × 21 =
8 × 21 =	7 × 21 =	$5 \times 21 =$	$20 \times 21 =$
3 × 21 =	$10 \times 21 =$	$21 \times 21 =$	16 × 21 =
$1 \times 21 =$	$14 \times 21 =$	$2 \times 21 =$	17 × 21 =
$14 \times 21 =$	19 × 21 =	$19 \times 21 =$	11 × 21 =
6 × 21 =	15 × 21 =	$13 \times 21 =$	10 × 21 =
$13 \times 21 =$	5 × 21 =	9 × 21 =	7 × 21 =
$18 \times 21 =$	6 × 21 =	$15 \times 21 =$	18 × 21 =
$21 \times 21 =$	2 × 21 =	3 × 21 =	5 × 21 =
$20 \times 21 =$	8 × 21 =	$21 \times 21 =$	16 × 21 =
$10 \times 21 =$	$17 \times 21 =$	$15 \times 21 =$	6 × 21 =
$11 \times 21 =$	$1 \times 21 =$	$14 \times 21 =$	20 × 21 =
$17 \times 21 =$	14 × 21 =	9 × 21 =	3 × 21 =
$12 \times 21 =$	20 × 21 =	$18 \times 21 =$	2 × 21 =
$7 \times 21 =$	3 × 21 =	$10 \times 21 =$	17 × 21 =
$2 \times 21 =$	7 × 21 =	7 × 21 =	19 × 21 =
$13 \times 21 =$	8 × 21 =	$12 \times 21 =$	21 × 21 =
$16 \times 21 =$	$10 \times 21 =$	$1 \times 21 =$	1 × 21 =
9 × 21 =	$17 \times 21 =$	6 × 21 =	8 × 21 =
$20 \times 21 =$	$18 \times 21 =$	$13 \times 21 =$	9 × 21 =

Multiplying by 21 (H) Answers

Name:

Date: _____

Score:

Calculate each product.

$16 \times 21 = 33$	6 $12 \times 21 =$	252	$16 \times 21 =$	336	$4 \times 21 =$	84
$19 \times 21 = 39$	9 $11 \times 21 =$	231	$1 \times 21 =$	21	$2 \times 21 =$	42
$15 \times 21 = 31$	5 $21 \times 21 =$	441	$12 \times 21 =$	252	$11 \times 21 =$	231
$5 \times 21 = 10$	5 $18 \times 21 =$	378	$11 \times 21 =$	231	$19 \times 21 =$	399
$9 \times 21 = 18$	9 $4 \times 21 =$	84	$4 \times 21 =$	84	8 × 21 =	168
$4 \times 21 = 8$	$3 \times 21 =$	63	6 × 21 =	126	$5 \times 21 =$	105
$8 \times 21 = 16$	$8 7 \times 21 =$	147	$5 \times 21 =$	105	$20 \times 21 =$	420
$3 \times 21 = 6$	$10 \times 21 =$	210	$21 \times 21 =$	441	$16 \times 21 =$	336
$1 \times 21 = 2$	$14 \times 21 =$	294	$2 \times 21 =$	42	$17 \times 21 =$	357
$14 \times 21 = 29$	4 $19 \times 21 =$	399	19 × 21 =	399	$11 \times 21 =$	231
$6 \times 21 = 12$	6 $15 \times 21 =$	315	$13 \times 21 =$	273	$10 \times 21 =$	210
$13 \times 21 = 27$	$5 \times 21 =$	105	9 × 21 =	189	7 × 21 =	147
$18 \times 21 = 37$	$6 \times 21 =$	126	$15 \times 21 =$	315	$18 \times 21 =$	378
$21 \times 21 = 44$	1 $2 \times 21 =$	42	$3 \times 21 =$	63	$5 \times 21 =$	105
$20 \times 21 = 42$	$0 \qquad 8 \times 21 =$	168	$21 \times 21 =$	441	$16 \times 21 =$	336
$10 \times 21 = 21$	$0 17 \times 21 =$	357	$15 \times 21 =$	315	6 × 21 =	126
$11 \times 21 = 23$	1 $1 \times 21 =$	21	$14 \times 21 =$	294	$20 \times 21 =$	420
$17 \times 21 = 35$	7 $14 \times 21 =$	294	9 × 21 =	189	$3 \times 21 =$	63
$12 \times 21 = 25$	2 $20 \times 21 =$	420	$18 \times 21 =$	378	$2 \times 21 =$	42
$7 \times 21 = 14$	7 $3 \times 21 =$	63	$10 \times 21 =$	210	$17 \times 21 =$	357
$2 \times 21 = 4$	$7 \times 21 =$	147	7 × 21 =	147	19 × 21 =	399
$13 \times 21 = 27$	$3 8 \times 21 =$	168	$12 \times 21 =$	252	$21 \times 21 =$	441
$16 \times 21 = 33$	6 $10 \times 21 =$	210	$1 \times 21 =$	21	$1 \times 21 =$	21
$9 \times 21 = 18$	9 $17 \times 21 =$	357	6 × 21 =	126	8 × 21 =	168
$20 \times 21 = 42$	$0 18 \times 21 =$	378	$13 \times 21 =$	273	9 × 21 =	189

	Multij	olying by 21 (I)	
Name:	Da	ate:	Score:
	Calcul	ate each product.	
$1 \times 21 =$	9 × 21 =	$16 \times 21 =$	9 × 21 =
$18 \times 21 =$	$20 \times 21 =$	$7 \times 21 =$	$10 \times 21 =$
$2 \times 21 =$	$10 \times 21 =$	9 × 21 =	5 × 21 =
$16 \times 21 =$	6 × 21 =	$18 \times 21 =$	14 × 21 =
$4 \times 21 =$	8 × 21 =	$3 \times 21 =$	16 × 21 =
$6 \times 21 =$	$14 \times 21 =$	$19 \times 21 =$	1 × 21 =
$5 \times 21 =$	$5 \times 21 =$	$12 \times 21 =$	7 × 21 =
19 × 21 =	4 × 21 =	$10 \times 21 =$	3 × 21 =
$7 \times 21 =$	$11 \times 21 =$	$5 \times 21 =$	13 × 21 =
$14 \times 21 =$	$17 \times 21 =$	6 × 21 =	13 × 21 =
3 × 21 =	7 × 21 =	21 × 21 =	8 × 21 =
9 × 21 =	$12 \times 21 =$	$11 \times 21 =$	6 × 21 =
$15 \times 21 =$	19 × 21 =	$4 \times 21 =$	$20 \times 21 =$
$12 \times 21 =$	2 × 21 =	$18 \times 21 =$	3 × 21 =
$13 \times 21 =$	$15 \times 21 =$	$20 \times 21 =$	4 × 21 =
$17 \times 21 =$	3 × 21 =	$12 \times 21 =$	$14 \times 21 =$
$21 \times 21 =$	21 × 21 =	$11 \times 21 =$	21 × 21 =
8 × 21 =	$15 \times 21 =$	$15 \times 21 =$	15 × 21 =
$10 \times 21 =$	2 × 21 =	6 × 21 =	1 × 21 =
$11 \times 21 =$	$13 \times 21 =$	$17 \times 21 =$	16 × 21 =
$20 \times 21 =$	8 × 21 =	2 × 21 =	$18 \times 21 =$
$13 \times 21 =$	$14 \times 21 =$	$19 \times 21 =$	17 × 21 =
$18 \times 21 =$	$17 \times 21 =$	8 × 21 =	11 × 21 =
$16 \times 21 =$	$1 \times 21 =$	$21 \times 21 =$	$12 \times 21 =$
$1 \times 21 =$	$20 \times 21 =$	$4 \times 21 =$	9 × 21 =

Multiplying by 21 (I) Answers

Date:

Score:

Calculate each product.

$1 \times 21 = 21$	9 × 21 =	189	$16 \times 21 =$	336	$9 \times 21 =$	189
$18 \times 21 = 378$	$20 \times 21 =$	420	$7 \times 21 =$	147	$10 \times 21 =$	210
$2 \times 21 = 42$	$10 \times 21 =$	210	$9 \times 21 =$	189	$5 \times 21 =$	105
$16 \times 21 = 336$	6 × 21 =	126	$18 \times 21 =$	378	$14 \times 21 =$	294
$4 \times 21 = 84$	8 × 21 =	168	$3 \times 21 =$	63	$16 \times 21 =$	336
$6 \times 21 = 126$	$14 \times 21 =$	294	$19 \times 21 =$	399	$1 \times 21 =$	21
$5 \times 21 = 105$	$5 \times 21 =$	105	$12 \times 21 =$	252	$7 \times 21 =$	147
$19 \times 21 = 399$	$4 \times 21 =$	84	$10 \times 21 =$	210	$3 \times 21 =$	63
$7 \times 21 = 147$	$11 \times 21 =$	231	$5 \times 21 =$	105	$13 \times 21 =$	273
$14 \times 21 = 294$	$17 \times 21 =$	357	$6 \times 21 =$	126	$13 \times 21 =$	273
$3 \times 21 = 63$	7 × 21 =	147	$21 \times 21 =$	441	8 × 21 =	168
$9 \times 21 = 189$	$12 \times 21 =$	252	$11 \times 21 =$	231	6 × 21 =	126
$15 \times 21 = 315$	19 × 21 =	399	$4 \times 21 =$	84	$20 \times 21 =$	420
$12 \times 21 = 252$	$2 \times 21 =$	42	$18 \times 21 =$	378	$3 \times 21 =$	63
$13 \times 21 = 273$	$15 \times 21 =$	315	$20 \times 21 =$	420	$4 \times 21 =$	84
$17 \times 21 = 357$	$3 \times 21 =$	63	$12 \times 21 =$	252	$14 \times 21 =$	294
$21 \times 21 = 441$	$21 \times 21 =$	441	$11 \times 21 =$	231	$21 \times 21 =$	441
$8 \times 21 = 168$	$15 \times 21 =$	315	$15 \times 21 =$	315	$15 \times 21 =$	315
$10 \times 21 = 210$	$2 \times 21 =$	42	$6 \times 21 =$	126	$1 \times 21 =$	21
$11 \times 21 = 231$	$13 \times 21 =$	273	$17 \times 21 =$	357	$16 \times 21 =$	336
$20 \times 21 = 420$	8 × 21 =	168	$2 \times 21 =$	42	$18 \times 21 =$	378
$13 \times 21 = 273$	$14 \times 21 =$	294	$19 \times 21 =$	399	$17 \times 21 =$	357
$18 \times 21 = 378$	$17 \times 21 =$	357	$8 \times 21 =$	168	11 × 21 =	231
$16 \times 21 = 336$	1 × 21 =	21	$21 \times 21 =$	441	12 × 21 =	252
$1 \times 21 = 21$	$20 \times 21 =$	420	$4 \times 21 =$	84	9 × 21 =	189

	Multij	plying by 21 (J)				
Name:	Name: Date:					
	Calcul	ate each product.				
9 × 21 =	16 × 21 =	$10 \times 21 =$	$11 \times 21 =$			
$2 \times 21 =$	$21 \times 21 =$	$11 \times 21 =$	$17 \times 21 =$			
$13 \times 21 =$	$2 \times 21 =$	13 × 21 =	19 × 21 =			
$21 \times 21 =$	$7 \times 21 =$	$14 \times 21 =$	16 × 21 =			
$18 \times 21 =$	$11 \times 21 =$	$1 \times 21 =$	$14 \times 21 =$			
$12 \times 21 =$	$20 \times 21 =$	$5 \times 21 =$	8 × 21 =			
$1 \times 21 =$	$12 \times 21 =$	$2 \times 21 =$	6 × 21 =			
$19 \times 21 =$	9 × 21 =	$12 \times 21 =$	$12 \times 21 =$			
$4 \times 21 =$	8 × 21 =	$15 \times 21 =$	13 × 21 =			
$14 \times 21 =$	$18 \times 21 =$	$20 \times 21 =$	$11 \times 21 =$			
$5 \times 21 =$	$5 \times 21 =$	6 × 21 =	$14 \times 21 =$			
8 × 21 =	$19 \times 21 =$	3 × 21 =	$15 \times 21 =$			
$20 \times 21 =$	3 × 21 =	4 × 21 =	3 × 21 =			
6 × 21 =	$10 \times 21 =$	3 × 21 =	9 × 21 =			
$7 \times 21 =$	$1 \times 21 =$	$20 \times 21 =$	19 × 21 =			
$15 \times 21 =$	$17 \times 21 =$	$5 \times 21 =$	1 × 21 =			
$10 \times 21 =$	$15 \times 21 =$	$7 \times 21 =$	6 × 21 =			
3 × 21 =	$16 \times 21 =$	$1 \times 21 =$	$17 \times 21 =$			
$17 \times 21 =$	21 × 21 =	2 × 21 =	5 × 21 =			
$11 \times 21 =$	$17 \times 21 =$	$15 \times 21 =$	$20 \times 21 =$			
$16 \times 21 =$	8 × 21 =	$10 \times 21 =$	21 × 21 =			
$14 \times 21 =$	7 × 21 =	9 × 21 =	2 × 21 =			
$4 \times 21 =$	19 × 21 =	$18 \times 21 =$	13 × 21 =			
6 × 21 =	$18 \times 21 =$	$21 \times 21 =$	$12 \times 21 =$			
$13 \times 21 =$	9 × 21 =	$4 \times 21 =$	4 × 21 =			

Multiplying by 21 (J) Answers

Name:

Date: _____

Score:

Calculate each product.

$9 \times 21 = \boxed{189}$	$16 \times 21 =$	336	$10 \times 21 =$	210	$11 \times 21 =$	231
$2 \times 21 = 42$	$21 \times 21 =$	441	$11 \times 21 =$	231	$17 \times 21 =$	357
$13 \times 21 = 273$	$2 \times 21 =$	42	$13 \times 21 =$	273	19 × 21 =	399
$21 \times 21 = 441$	7 × 21 =	147	$14 \times 21 =$	294	$16 \times 21 =$	336
$18 \times 21 = 378$	$11 \times 21 =$	231	$1 \times 21 =$	21	$14 \times 21 =$	294
$12 \times 21 = 252$	$20 \times 21 =$	420	$5 \times 21 =$	105	8 × 21 =	168
$1 \times 21 = 21$	$12 \times 21 =$	252	$2 \times 21 =$	42	6 × 21 =	126
$19 \times 21 = 399$	9 × 21 =	189	$12 \times 21 =$	252	$12 \times 21 =$	252
$4 \times 21 = 84$	8 × 21 =	168	$15 \times 21 =$	315	$13 \times 21 =$	273
$14 \times 21 = 294$	$18 \times 21 =$	378	$20 \times 21 =$	420	$11 \times 21 =$	231
$5 \times 21 = 105$	$5 \times 21 =$	105	6 × 21 =	126	$14 \times 21 =$	294
$8 \times 21 = 168$	19 × 21 =	399	$3 \times 21 =$	63	$15 \times 21 =$	315
$20 \times 21 = 420$	3 × 21 =	63	$4 \times 21 =$	84	$3 \times 21 =$	63
$6 \times 21 = 126$	$10 \times 21 =$	210	$3 \times 21 =$	63	9 × 21 =	189
$7 \times 21 = 147$	$1 \times 21 =$	21	$20 \times 21 =$	420	19 × 21 =	399
$15 \times 21 = 315$	$17 \times 21 =$	357	$5 \times 21 =$	105	$1 \times 21 =$	21
$10 \times 21 = 210$	$15 \times 21 =$	315	7 × 21 =	147	6 × 21 =	126
$3 \times 21 = 63$	$16 \times 21 =$	336	$1 \times 21 =$	21	$17 \times 21 =$	357
$17 \times 21 = 357$	$21 \times 21 =$	441	$2 \times 21 =$	42	$5 \times 21 =$	105
$11 \times 21 = 231$	$17 \times 21 =$	357	$15 \times 21 =$	315	$20 \times 21 =$	420
$16 \times 21 = 336$	$8 \times 21 =$	168	$10 \times 21 =$	210	$21 \times 21 =$	441
$14 \times 21 = 294$	$7 \times 21 =$	147	9 × 21 =	189	$2 \times 21 =$	42
$4 \times 21 = 84$	19 × 21 =	399	$18 \times 21 =$	378	$13 \times 21 =$	273
$6 \times 21 = 126$	$18 \times 21 =$	378	21 × 21 =	441	$12 \times 21 =$	252
$13 \times 21 = 273$	9 × 21 =	189	$4 \times 21 =$	84	$4 \times 21 =$	84